> restart

> Ecua = 2-y(x)- (diff (y(x),x) +2) —x-(diff (y(x),x))--2=0

Ecua =2 y(x) (—y(x) +2) —X (—y(x)) =0

Sol := dsolve( Ecua)

- 2
Sol == y(x) =0, y(x) = -4 x, y(x) = — x(-x+2 CI)
2 2(_~x+2 CI

- (_—C]__+2)

SolGral = simplify(Sol[3])

1 (-x+2 c1)
SolGral .= y(x) ) C

Comprobacion[ 1] := simplify(eval(subs(y(x) =rhs(SolGral), Ecua)))

Comprobacion, :=0 =0

SolGralUno = simpliﬁ/(subs( _Cl= %, SoZGral) )

2
SolGralUno =y(x) = %
DerSolGral = diff (SolGralUno, x)
DerSolGral = % y(x) = 2 (_xC+ )
Sol[1]
y(x)=0
Sol[2]
y(x)=-4x
Comprobacion|[2] := solve(rhs(SolGralUno) =rhs(Sol[2]), C)
Comprobacion, .= -x, -x

Comprobacion[2] := solve(rhs(SolGralUno) =rhs(Sol[1]), C)
Comprobacion, := x, x

SolPart[ 1] = subs(C =2, SolGralUno)

SolPart, :=y(x) = % (-x+ 2)2

Comprobacion[ 3] = solve(rhs(SolGralUno) =rhs(SolPart[1]), C)

Comprobacion, := 2, 1 X
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